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O1h TOB4 KassaTh: Kora H Abaumo u abanTean ca oxom-
YABATH HA HYABI, TO MOKE A2 HMBb CH OTMAXHXTH I0 €AHAKBO
4yHCcA0 HYam 0TAbeno, H pa ca abau, 6esn aa ca uawbaw orh
TOBA YACTHO-TO; 3a4T0O-TO OTH TOBa H AbBAEMO-TO H Aban-
TEAB-Th H ABa-Ta cA ymaaasaTh Ha 10, van va 100 . . .. nxTH,

Aa phuems, ye Tph6sa pa paspbaamn 84000 ma £00.
3a pa ca cwvkparH pbiicreie-To Hie ormaxsamsi mo AL Hyawsr B
8b AbauMO-T0 H BB pgbantean, Ta abanmn 840 wa 4.

840 : 4=210,
Koe-1o e Bce eano 84000 : 400=210.

3apaska 1. Axo gbaumo-mo ca yeeawyu 100 aruru,
a Abaumenv-ms 10 wrmu, wo kakso usmbuenie uye wpo-
u3abse 6y wacwno-mo?

Axko pa 6% ca yreanynao camo phanmo-1o 100 nxTH, TO H
YACTHO-TO wiAwe ca yseanyn 100 oxrn; #H 3a4ro-10 H Aban-
TeAb-Th ¢ yBeAnyn |0 mxTH, TO uACTHO-TO Tph6Ba 0TH TOBA
Aa ca ymaan 10 rnxrH: cabpoB. YACTHO-TO CA yBeAHYH CAMO
10 mxTH.

3apaska 2. Kakeo usmbuewie we upouzabse 6v ui-
cuno-mo, ako Abaumo-mo ca yseawwu 100 nxmu, a 40-
AwmeAs cA ymaauw 10 awxmu?

Axko paa 65 ca yseanunao camo pbanmo-to 100 n&krH, TO
H 4ACTHO-TO 661 ca yBeanynao 100 nxra; wb 3a4rTo-10 H Ab-
AuTeAb-TH A ymaan 10 nxra, To uacrao-ro Tph6Ba Aa ca
yseanyn ome 10 mxru: cabaosar. we ca yseanyn 10010
Han 1000 mxTH.

61. Ors ToBA, rAk-TO YACTHO-TO CA YMAAABA OTH yBEAHYE~
nie camo Abanrean, uzausa: 1) gokat gbaumo-ro e mo-roabmo
oTh AbBAHTEAH , uACTHO-TO OBBA 16-r0abMo 0oTB  L-u&;
2) ako pbanTeab-TH CTaHe paBeHs Ha ABAHMO-TO, TO YACTHO-
T0 me 6xpe pasao ua l-ux; mamp. 4:4=1; 3) a ako an
Abanrean-m6 6xae no-roakms ore AbanMo-To, TO LIe msabse
YACTHO NG-MAAKO OTHL epnmun&; Haup. 3:4=—"/,. TakmBs
YACTHBI YHCAA, 110-MAAKBI 0TH €AHHHIBI, HADHYATH CH APO0OU,
UACTTY HA eAUNUYF. 3a THXD ueMb rOBOPHMS 1OCAh.



